CFD.

Designz*

&

REHR PRI ARG A2 AR(—PIA—E), EREFETEH L,

- BERERGEEEPATHERE R, mEA., M, Bl XEM
L EA,
- BEmEe, TANGE,
- AISI303 7 4 41 i % 4,
'%%jﬁ:
-2 HREAE, FHIL,
13 BT AP o 8RR OB AT, DR T (B 4 4090 BB AT,
AT AENEERAHE, ¥, WAITHATERAELNRE
.
— 10t BT AN EEHFEFEA, WAIRATEHNEERFTE, F4

T

4U &

— I ATARAP X ELEINL, ARIHATEHRGEREALTE, T8

o
— I ATAHARAELEIN, ARIRATERNRRARTE, W
&I

- Bedc . moR215°, 7E0°E(-105° )L BO°E[110° 2 [F(0°=78 M B 2 4%
WAREER—FT LoFR), FTERTREANRRAGLE), £
£ 5 R BUOHE B9 AL R

EPENRAT, ERFERTEUNRBEEANRE, w5 LHES5247
FHEHE.

hz

j'. - J' Ii

i
I Tl

1% (B) AT (P) ¥4t (p) / bushings (B)

ds ds

8 e h
S ymz B0 T
I

3 (B) / E4F (p) i# 71, CH / bushings (B) & 3L CH /424 (p)

@ [ Elemnn'l'[n'] "ELESA™ and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.



CFD.

Design F#y°

|
Y

b f1

S
>
l

L

2N
P
i@
K
J7

N 2 N\

R 254
FE BEFT BFL FTE 24T
A8y 8l = B L ft0.25 f12028 H h1 b1 b2z bz d di h dz | da ds de hz d7 1 g
422711 |CFD.30 BB M3 4 .. - - lms 4 | - - 8
422721 | CFD.30 p-M3x13 . M3 13 - i - - | m 13 11
422731 | CFD.30 p-M3x13-B-M3 . M3 13 - - lms 4 | - - 10
422?41 GFDI:ﬂ] BMMBK‘1 3 26.5 3’0.5 1 5 15 12|'5 915 22-5 15 ? 2-5 m 4 - - - - - - m 1 3 g
422751 | CFD.30 CH-3-B-M3 A ; 35 6 M3 4 | - - 7
422761 | CFD.30 CH-3-p-M3x13 .. ; 35 6 - - I m 13 8
422811 | CFD.40 B-VM4 M4 55 - ; - lwva 55 | - - 19
422821 | CFD.40 p-Mdx18 . M4 18 ] i M4 18 26
422831 | CFD 40 p-Mdx18-B-M4 . M4 18 - - lwma 55 | - - 23
422841 | CFD 40 E—WMHK‘IE 34 405 20 202 165 125 295 20 95 4 M4 55 ) ) _ ) ~ ) M4 18 21
422851 | CFD 40 CH4-B-\W4 . ; 45 75 | M4 55 | - - 16
422861 | CFD.40 CH-4-p-M4x18 . ; 45 75 | - - | ma 18 19
422911 |CFD.48 BM5 M5 6.5 - ; - Iwms 65 | - - 33
422021 | CFD 48 p-M5x17 . M5 17 ) i - - w17 46
422931 | CFD 48 p-M5x17-B-M5 .. M5 17 ; - Ims 85 | - - 41
422951 | CFD 48 CH-5-B-M5 .. .. 55 9 |ms 85 | - - 27
422961 | CFD.48 CH-5-p-M5x17 . - 55 9 - - w17 31
423011 |CFD.66 B-MB M6 10 - ; - Iwme 9 | - - 76
423021 | CFD.66 p-M6x16 A M6 16 ; i - - I me 16 95
423031 | CFD.66 p-M6x16-B-M6 . M6 16 ; - Iwme 9 | - - 90
423041 |CFDE6 B-MepMexte | 20 66 33 318 275 21 485 33 15 6 M6 10 - ; i M6 16 82
423051 | CFD .66 CH-6-B-M6 - - 65 105 | mMe 9 | - - 66
423061 | CFD.66 CH-6-p-M6X16 .- - 65 105 | - - | me 16 71

“ELESA" and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source @[ le "I
when reproducing our drawings. e ’mnl[n




CFD.

Designz*
b s | !
A
BT 1 % A 5 90° # % F 98 JF
RS HEE b [6) % R 90° T HIRAE BB 46
= [N « m]
K5 = BATHESS | WEET |SATESET| WRSE |BATESE | WEET | SH/CHB p
Er[N] Re[N] Ea[N] Ra[N] ESO[N] RI0[N]
SH/CH | B p
422711 | CFD.30 B3 70 490 60 690 60 500 - 1 -
422721 | CFD.30 p-M3x13 40 340 70 750 30 390 - - 1
422731 | CFD.30 p-M3x13-B-M3 40 340 B0 690 30 390 - 1 1
422741 | CFD.30 B-M3-p-M3x13 40 340 60 690 30 390 - 1 1
422751 | CFD.30 CH-3-B-M3 110 720 100 830 70 670 0.5 1 -
422761 | CFD.30 CH-3p-M3x13 50 450 60 730 30 350 0.5 - 11
422811 | CFD.40 B-\M4 150 1340 160 1710 100 700 - 4 -
422821 | CFD.40 p-M4x18 140 880 110 1230 50 730 - - 11.5
422831 | CFD .40 p-M4x18-B-M4 140 880 110 1230 50 700 - 4 11.5
422841 | CFD .40 BAV4-p-Mi4x18 140 880 110 1230 50 700 - 4 1.5
422851 | CFD.40 CH-4-B-\M4 150 1220 120 1620 130 1110 1 4 | -
422861 | CFD.40 CH-4-p-M4x18 140 820 150 1480 100 860 1 - 11.5
422911 | CFD .48 B-M5 260 1700 260 2440 120 1640 - A |
422921 | CFD.48 p-MSx17 240 1840 290 1770 110 1740 - - 3
422931 | CFD.48 p-Mb5x17-B-M5 240 1700 260 1770 110 1640 - A | 3
422941 | CFD .48 B-M5p-MSx17 240 1700 260 1770 110 1640 - A | 3
422951 | CFD .48 CH-5B-M5 240 1890 330 2530 290 1870 2 - -
422961 | CFD .48 CH-5p-Mb5x17 120 1200 150 2170 110 970 2 -1 3
423011 | CFD.66 B-\M6 320 2520 450 4130 220 2250 - D | -
423021 | CFD.66 p-MEx16 260 1700 470 3260 240 1580 - - | A
423031 | CFD .66 p-Mex16-B-M6 260 1700 450 3260 220 1580 - 5 | A
423041 | CFD.66 BAVI6pVIEX16 260 1700 450 3260 220 1580 - o A
423051 | CFD.66 CH-6-B-M6 410 2610 430 3660 310 2830 5 51| -
423061 | CFD.66 CH-6-pM6x16 280 1770 350 3090 180 1610 5 - | A

* AT EAEEBENM, FERERTEHEAHE,

B (elesaGANTER]

"ELESA™ and "GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.



